環境經濟學─期末考答案─Jan. 2001


一、是非題：（每題4分）
1. F    (No, because lumber company has only 20 years of ownership, it will extract the most out of this property, and it has no incentive to manage for timber benefits accruing after the 20-year term of the lease.)

2. F    (No, trade ban might encourage the black market of logs, which would offer more incentive for deforestation in the Amazon region.  But if Amazonia governments allow open access to the forest, we should try to eliminate the importation of logs from Amazonia.  However, a trade ban is usually too blunt an instrument for this purpose; it would backfire.)

3.  T
4.  F

5.  T

6.  T

7.  F

8.  T

9.  F

10. T

二、選擇題：（每題4分）
1. C

2. A

3. B

4. D

5. C

6. D

7. B

8. C

9. A

10. B

